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Assemble all of the puzzle pieces so that the problem and solution match.  Once you have a 4 by 4 
grid, paste it below.

Unit:  Expressions
Puzzle

Distributive property puzzle

Name _____________________________________
Date ____________________________	Pd ______
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Assemble all of the puzzle pieces so that the problem and solution match.  Once you have a 4 by 4 
grid, paste it below. 

Unit:  Expressions
Puzzle––A

Name _____________________________________
Date ____________________________	Pd ______

Distributive property puzzle
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Assemble all of the puzzle pieces so that the problem and solution match.  Once you have a 4 by 4 
grid, paste it below. 

Unit:  Expressions
Puzzle––A

Name _____________________________________
Date ____________________________	Pd ______

KEY

Distributive property puzzle
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Assemble all of the puzzle pieces so that the problem and solution match.  Once you have a 4 by 4 
grid, paste it below. 

Unit:  Expressions
Puzzle––B

Name _____________________________________
Date ____________________________	Pd ______

Distributive property puzzle
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Assemble all of the puzzle pieces so that the problem and solution match.  Once you have a 4 by 4 
grid, paste it below. 

Unit:  Expressions
Puzzle––B

Name _____________________________________
Date ____________________________	Pd ______

Distributive property puzzle

KEY


